THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF VTE LTR

INCORPORATED., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN
PERMISSION OF VTE INCORPORATED IS PROHIBITED.

\ REVISIONS DATE
> |3874-000 WAS 3872-000 12JUL06
1B |3842-001 WAS 3842-002 | 4AUGI6

P/N 31231 BASEPLATE
MATERIAL: 16% GLASS FILLED NYLON
(RED AND BLACK VERSIONS)

2.664

.||L©

) P/N 3874-000 #8 X 3/8" PHILLIPS
FLATHEAD HIGH LOW SCREW (8@8)

P/N 3736-002 1/4“X3/4" SS HEX HEAD BOLT
——————P/N 3842-002 1/4’-20 HEAVY HEX SS NUT
P/N 3637-000 1/4” SS SPRING WASHER

P/N 3644-001 1/4" SS FLAT WASHER

P/N 3730-006 5/16-18"X3/4" FULLY THREADED
S§ HEX HEAD BOLT (3 PLCS)

P/N 3642-000 5/16" SS
) 1

SPRING WASHER (3 PLCS) ™ N\
g gl gl P/N 3645-000 5/16° SS_/ N\

iHI—ﬂ—-h_—-}i:rﬁm FLAT WASHER (3 PLCS)

P/N 384¢2-001 1/4"-20 TIN-PLATED
BRASS HEAVY HEX NUT TOLERANCE UNLESS OTHERWISE SPECI

==l

P/N 3883-000 NICKEL PLATED COPPER CONTACT PLATE

FIED +,030°/+0.8mm
APPLY BLUE MARK AT ASSEMEBLY TO RADIAL DIAMETERS TO BE MEASURED OVER MANDRELS,
SIGNIFY CONDUCTIVE NUT RING _GAGES OR PIN CAGES OF SUITABLE SIZE

DO NOT SCALE

MAXIMUM AMPERAGE: 210 AMPS e12VDC

VTE Inhcorporated

5437 Roblnson Road, P.O. Box 790

Pellston, Michigan 49769
BASE MATERIAL: GLASS-REINFORCED NYLON T g 2296, 31793978000
BASE MATERIAL UL. RATING: 94 HB
REF: DATE: DRN BY: BRH | WEIGHT:
N 22FEBD6 CHK'D BY: BRH HEHHEH

TITLE'S/16* 4-POINT CONTACT PLATE

SCALE:

MATERIAL:

DRG

COLOR:  mmexmn CLASS wmex

PART NO.

7705N0 N14




